Scatterplot Test REVIEW

The prices of the eight top-selling brands of shoes at Kennedi's House of Shoes are given in the table

below.
Sales 1 2 3 4 5 6 7 8
Rank
Price ($) 43 44 50 61 64 135 108 78
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4. Do you see a positive,
negative or no correlation?
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Scatterplot Test REVIEW
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5. Create a scatterplot on your calculator.

6. What is the correlation
coefficient?

Round your answer to the hundredths place.
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8. Use the calculator to find
slope (m)

Round your answer to the hundredths place.
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9. Use the calculator to find
the y-intercept

Round your answer to the hundredths place.
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10. Write the linear
regression equation in slope
intercept form.

11. Using the equation, what
would be the price of a pair
of the 11™ best-selling
brands of jeans?

Round your answer fo the hundredths place,
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12. Using the equation, what
would sales rank be for a pair
of shoes that cost $160.00?
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Would you expect a positive correlation, negative correlation, or no correlation between the two
sets of data? Give a clear reason for your choice.

1) The distance that a person rides their bike and the amount of calories burned.
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2.) The amount of fr'ee Time a person has and the amount of time they spend working.
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3. ) A person's height (inches) and ‘the number of pets they own. (1pt.)
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